Corrigé type NI911

Exercice 1 : (3 pts)
1. Xo = X;1.(X5.50 + X,)
X, = X,.(X,.50.53.52 + X;)
X, = X3.(X1.51 + X5)
X3 = Xo.(X5.51. S3 + X3)

2. Table des entrées / sorties (2 pts)

Entrées

Adresses

SO

1124.0

S1

1124.1

S2

1124.2

S3

1124.3

Ps

1124.3

Sorties

Adresses

KM1

Q124.0

KM2

Ql124.1

Mémento

Adresses

X0

M100.0

X1

M100.0

X2

M100.0

X3

M100.0

3. Programme Ladder (3pts)
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Exercice 2 :

1. Table des entrées (4 pts)

Entrées Adresses

Marche 1124.0
a0 1124.1
b0 1124.2
bl 1124.3
Ps 1124.3

Sorties Adresses
a+ Q124.0
a- Ql124.1
b+ Q124.2
KM Q124.3

2. Programme Grafcet : (8pts)
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